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. St XA Subject : Geometry . il Marks : 40 |
28 ' =
Q.1 (A) Solve the following questions. (Any four) A [4]
1) In right angled AABC, BDLAC.If AD=4,DC =9,
Then find BD.
R c

2) In figure, ray PQ touches the circle at Point Q.
PQ =12, PR = 8, find PS.

3) Draw a circle at radius 3.6 cm. Draw a tangent to the cire e at any point on it
without using the circle.

4) If two circles with 1ad1us 8 cm and 3 cm respectively, touch 1ntemally then

find the distance between then centels | -
A(ADEF) -

5) ADEF ~AMNK, if DE = 5 MN 6 then find the value of AGGMNK)

Q.1 (B) Solve the followmg questions. (Any lwo) | ' m

PN =7, MQ = 2.5 then find QP.

2) In the adjoining figure circle with centre D
touches the sides of ZACB at A and B.
If 2zACB = 52° find measure of AADB.

3) In the adjoining fig. In AABC ZB =90°,
/A =30° AC = 14 then find AB and BC.

c
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Q.2 (A) Choose the correct alternative.
1) In AABC ~ APQR and 4A(AABC) = 25A(APQR) then AB:PQ="7
(A)4:25 (B) 2:5 (@)9o:2 (D) 25:4

2) LA (B is inscribed in arc ACB of a circle with centre O. if AACB =65°
find m(arc ACB). | . o -

(A)65° (B)130° (C) 295° " (D) 230°
3) Sind x cosecB =? | :
(A) \/2 (B) % o (C) 0 i (D) ]

4) Out of the following which is a Pythagorean triplet? |

WG BG4 (OIS (D) (65D
Q.2 (B) Solve the following questions. (Any two) = ' [4]

1) Draw a circle of radius 3.3 cm. Draw a chord PQ of length 6.6 cm.
Draw tangents to the circle at point P and Q. Write your observation about the

tangents.

_2) o MRPN is cyclic, ZR = (5x - 13)°, ZN = (4 x + 4)°. Find measures

of /R and ZN.

3) Ratio of corresponding sides of two similar triangles is 2:5. If the area of
the smaller triangle is 64 cm? then what is the area of the bigger triangle.

Q.3 (A) Complete the following activities. - [8]

1) Prove that angles inscribed in the same arc are congruent.

Given ZPQR and /PSR are inscribed in the same arc.
Arc PXR is intercepted by the angles.
To prove: ZPQR = ZPSR | gl

Proof: mZPQR = % m (arcPXR) -—--1[ ]
msZ[_]=-m(arePXR) -1 [ ]

mZ[ ] =m £PSR - From I and II

/PQR = /PSR (Angles equal in méasure are congruent.)
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2) In th= above figure line AB || line CD || line EF, / } \B .
line L and line m are its transversals. «C / ' \D .
If AC=6, CE=9, BD =38 then complete < . F,
- the following activity to find DF. o / | S o \'
. Ac | | '
Act ] == »
ctivity = oF ( _ . )
Do, W
9 DF
DF

3) In the adjoining figure O is the centre of the circle. LZABC is inscribed in arc
ABC and ZABC = 65°. Complete the followmg act1v1ty to ﬁnd the measure of
ZAO0C.

Activity: mLABC=-;m RY L] = )

Q

L 2 = m (arc AXC)

m (arc AXC) = " _

Z/AOC =m (arc AXC)  (_ )
. ZAOC = |

4)In AABC, ray BD bisects ZABC seg ED || side BC.

AE

Then prove that ===

Proof: In AABC, ray BD bisects ZABC

as_ L
BC [ ]
In AABC, seg ED || side BC
-2 _n[*F
EB DC
AB J———'l ---- From I and IIV

D EB
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Q.4 Solve the followirg questions. (Any three)

1) Draw a circle with radius 4.2 cm. Construct tangents to th\c circle from a
point at a distance of 7 cm from the centre.

' A U\"l/
2) In AABC seg AP is a median. If BC= 18 ABY+AC = 260 Flnd AP.

3) If cotO = ? % find the values of cos@, cosecOd and sinb.

4) In figure m(arc WY)=44° , m(arc ZX) = 68° . ‘ :
then find : "

(i) measure of LZTX. A

(i) f WT=4.8, TX=8.0, YT = 6.4. Find TZ.

(iii) If WX =25, YT =8, YZ =26. Find WT.

X

Q.5 Solve the following questions. (Aﬁy@ne) . - [4]
1) Prove that : In a right angled triangle, the square of the hypotenuse
is équal to the sum of the squaresv of remaining two sides. ‘
2) Prove that : The sum of the squares of the dlagonal of a parallelogram
is equal to the sum of the squares of its 51des
Q.5 Solve the follewmg questions. (Any one) ' - [3]

1) ARST~AXYZ, In ARST RS=4.5 cm, ZRST =40°, ST = 5.7 cm. Construct

‘ ARST and AXYZ such that RS.3 .
XY 5

2) In figure in a circle with centre O, length of
chord AB is equal td the radius of the circle.
Find measures of each of the following.

(1) ZAOB (i1) ZACB
(iii) arc AB (iv) m (arc ACB)
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